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For questions 1 to 3, write your answers in the space provided. Duration: 30 minutes 

Question 1 

Aminah hung out two identical wet T-shirts, X and Y, to dry at the same time in her 
garden. She wanted to find out which T-shirt would become completely dry first. 
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(a) State the dependent and independent variables in the above experiment. [2] 

(i) dependent vari_able:

(Ii) independent variable: 

(b) Aminah's teacher told her to repeat the experiment a few times.

Explain why this Is important.
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Ql (a) (i) dependent variable: the time taken for the clothes to dry completely

(ii) independent variale: location of the experiment

(b) Repeating the experiment a few times will allow Aminah to take the

average result causing the experiment's result to be the most reliable

(c) Y

(d) Using a fan will allow Aminah to obtain a more accurate result as in the

room with the fan, the fan will be the source of wind blowing directly at T-

shirt X. However, doing the experiment outsoors may not be soaccurate as

there might be more amount of wind.

Q2 (a) 10

(b) It is not a fair test as there is more than 1 changed variable in the set-up

(c) Move the cans wrapped with material Q and R to have the same

distance as P at 20cm

(d) Using a temperature sensor and a data logger would be more accurate

than using a thermometer

(e) In a fair test, the test should only have one change variable

Q3 (a) iii & iv

(b) Paper discs A,B and Chas antibiotics and the antibiotics killed the

bacterias faster leaving the most clear area where no bacteria is grown.

(c) C

(d) The size of clear area around C was the largest thus, it killed the most

bacteria.
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Ql 

Q2 

Q3 
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(a) ,;.",.:.;, ·i ·i· •i i 1··"1 i ; : . i '"" 

:tf] j�J: ' .. ,. 
(b) Its outer covering is hard and rough.
(c) The outer covering protects the seeds in Specimen N.
(a) Fruit X 2

Fruit V 5 
(b) Fruit X
(c) 

(a) 
(b) 

After p'c;1cing a strip of the Universal Indicator on Fruit X 
and V, X had its colour closer to the one with the pH value 
closer to O compared to Fruit V. Thus, as Fruit X has a 
lower pH value, it is�ore acidic. 
Bar magnets, Steel paperclips, Ruler 

(a) Amount of water, Mass of substance to·be dissolved in
the water

(b) 3,4,2,1
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